

YEAR 7 TEXT AND STATIONERY LIST 2019

2 x Black, Blue and Red Biro (2 of each) (no click pens)

2 x 2B Pencils

6 x HB Pencils or

2 x Pacer with HB Leads

1 x Zip Pencil Case

1 x Black Tip Pen for labelling items

2 x Additional Slimpick/Document Wallets

1 x Metric Ruler (Clear Plastic) 30cm

1 x Eraser & Barrel Sharpener (includes container to hold shavings)

1 x Large Glue Stick

1 x Scissors 170mm

1 x Ear Bud Headphones

1 x USB Flash Drive

SUBJECT	TEXT REQUIREMENTS (Subject Specific)	STATIONERY REQUIREMENTS (Subject Specific)
Design & Technology	No Text Required	1 x HB Pencil 1 x Eraser 1 x set coloured Pencils
Drama	No Text Required	1 x A4 Display Folder Theatre Blacks – 1 x Black T-shirt, 1 x long Black Pants or Leggings
English	Australian Oxford Pocket Dictionary	2 x A4 Exercise Book 64 pages (not spiral bound) 1 x 4 pack Highlighter Pens (Essential colours - yellow, pink, blue, green)
Food Technology	No Text or Resources are Required	
French	No Text Required	1 x A4 Exercise Book 64 pages (not spiral bound) 1 x Ear Bud Headphones
Health & Physical Education	Townsville Grammar School Student Workbook Year 7 HPE 2019 Titan Education (Customised Workbook)	1 x Document Wallet 1 x A4 Exercise Book 64 pages (not spiral bound)
Humanities (History & Geography)	History Alive 7 for the Australian Curriculum second edition 2e learnON & Print (2017) Darlington & Hospodaryk Jacaranda 2018 ISBN 9780730346517	2 x A4 Exercise Book 64 pages (not spiral bound) one for History, one for Geography 1 x pkt coloured pencils 1 x Black Fine Tip 0.2mm 1 x Red Fine Tip 0.4mm
Japanese	Hiragana in 48 Minutes Workbook ISBN 9780170403948 Hiragana in 48 minutes flashcards	1 x A4 Exercise Book 64 pages (not spiral bound) 1 x Document Wallet
Literacy Support	(Curriculum Corporation) No Text Required	1 x Ear Bud Headphones
Mathematics	Essential Mathematics for the Australian Curriculum Second Edition Year 7 (print and interactive textbook powered by HOTmaths) ISBN: 9781107568822 Maths Mate 7 Student pad	1 x A4 Exercise Books 64 pages (not spiral bound) (for Problem Solving) 1 x A4 Exercise Books 64 pages (not spiral bound) (for Maths Mate) 2 x 64p A4 5mm Grid Book Stapled (not a graph pad) e.g. Olympic
	ISBN: 9781921535772	SP03665 (for class work) 1 x Casio fx-100 AU PLUS Scientific calculator 1 x Protractor 1 x Helix Metal Compass 1 x Ear Bud Headphones

Cont'd over/-

YEAR 7 TEXT & STATIONERY LIST 2019 cont'd

SUBJECT	TEXT REQUIREMENTS (Subject Specific)	STATIONERY REQUIREMENTS (Subject Specific)
Music	No Text Required	1 x A5 Music Exercise Book 96 pages
Science	Science Quest 7 Australian Curriculum Third Edition Lofts & Evergreen Jacaranda 2018 ISBN 978 0 7303 4700 2	2 x A4 Exercise Book 64 pages (not spiral bound) 1 x A4 Display Book
Visual Arts	No Text Required	1 x A4 Visual Art Diary (Black cover) 1 x 2B Pencil 1 x Black Fine Tip Pen 0.4mm
STEM	No Text Required	Headphones (Generic) 1 x Olympic Sketch Pad SK 60 1 x A4 Exercise Book 48 pages 1 x 6mm Black Tip Chisel Pen (Sharpie brand)

PLEASE NOTE: If a USB Flash Drive and headphones are required for more than (1) one subject it is acceptable to use the same for all subjects.

The **General Purpose Levy** covers the cost of photocopying of subject notes, exam materials, some stationery, Maths & Science Competitions and some excursion costs.



Progress Book World

ABN: 78 083 194 843 15-17 Hammett Street Currajong 4812 Ph: 4725 2640 admin@progressbookworld.com.au



Townsville Grammar School

Year 7 2019 Order STATIONERY REQUIREMENTS

STUDENTS NAME:

Qty	Item Description	Price Each	Total
1	Music Exercise Book 96 pages Feint & Staved (Small - A5)	\$1.70	
11	A4 Exercise Books 64 pages (Not Spiral Bound)	\$1.40	\$15.40
1	A4 Exercise Books 48 pages (Not Spiral Bound) (for STEM)	\$1.10	
2	A4 Graph Book 5mm 96 page STAPLED not Tear Off	\$1.75	\$3.50
1	A4 Visual Art Diary (Black cover)	\$8.95	
1	A3 Olympic Sketch Pad (SK60)	\$3.95	
2	Display Book A4	\$1.90	\$3.80
4	Polywally Document Wallet	\$1.85	\$7.40
2	Pen Faber-Castell Black (No Click Pens)	\$0.70	\$1.40
2	Pen Faber-Castell Blue (No Click Pens)	\$0.70	\$1.40
2	Pen Faber-Castell Red (No Click Pens)	\$0.70	\$1.40
1	Pentel N60 Black Marker Chisel 6mm	\$3.95	
1	Artline 700 Black Marker	\$3.95	
1	Artline 220 Black 0.2mm	\$2.95	
1	Nikko 99L Black Fineliner 0.4mm	\$2.50	
1	Nikko 99L Red Fineliner 0.4mm	\$2.50	
2	Faber-Castell Pencil 2B	\$0.65	\$1.30
6	Faber-Castell Pencil HB OR	\$0.65	\$3.90
2	Pacer Staedtler 763 (0.5mm)	\$2.50	\$5.00
2	Pacer Leads HB	\$1.75	\$3.50
1	Coloured Pencils Faber Castell Classic 12 Pack	\$4.00	
1	Eraser Micador Large	\$0.90	
1	Sharpener Sovereign Barrell	\$1.80	
1	Ruler Clear Plastic 30cm	\$0.60	
1	Highlighter Pens (4 pack) (Yellow/Pink/Blue/Green)	\$6.95	
1	Large Glue Stick 35g Bostik	\$3.20	
1	Scissors Belgrave 178mm	\$3.00	
1	Protractor 180	\$1.00	
1	Helix Metal Compass	\$4.00	
1	Zip up Pencil Case Large with Name Card Holder	\$3.50	
1	CASIO fx-100AU PLUS Scientific Calculator	\$46.95	
1	USB Flash Drive (8GB)	\$11.95	
1	Ear Bud Headphones	\$9.95	
		Total	



Progress Book World

ABN: 78 083 194 843 15-17 Hammett Street Currajong 4812 Ph: 4725 2640 admin@progressbookworld.com.au



Townsville Grammar School Year 7

2019 BOOKLIST

SURNAME:		FIRST NAME :						
BOARDER: YES	NO	(Please Circle)						
SUBJECTS	ISBN	TEXT	PRICE	QTY				
English	9780190311988	Australian Oxford Pocket Dictionary (8th Edition)	\$29.95					
Mathematics	9781921535772	Maths Mate 7 Student Pad	\$14.95					
Mathematics	9781107568822	Essential Mathematics AC Year 7 (2nd Ed) (Print & Interactive Textbook powered by HOTmaths)	\$69.95					
Humanities	9780730346517	History Alive 7 for Australian Curriculum (2nd Ed) NEW edition	\$69.95					
Health & Physical Education	Flexi Book	Townsville Grammar Yr 7 Health & PE 2019 W/Book	\$46.95					
Science	9780730347002	Science Quest 7 AC (3rd Edition) NEW edition	\$79.95					
	ı	ELECTIVE SUBJECTS						
Japanese	9780170403948	Hiragana in 48 Minutes Workbook	\$23.95					
Japanese	9780170373258	Hiragana in 48 Minutes Student Card Set	\$25.95					
			TOTAL					
			•					
	Boarder's pre-	packs will be available at the school on 25/01/2019.						
	Day student	t pre-packs can be collected at your convenience.						
Payment Options: - Vi	sa - Bankcard M	astercard - Cheque - Money Order - (Please Circle one)					
Name: Contact No:								
Card Number:								
Expiry Date:								

Year 7 Page.....1